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1. » x=[1 2 3 45 24];
» y=sort(x)
y =
     1     2     3    24    45
» p=(sum(y)-y(1)-y(2))/(length(y)-2)
p =
    24


%también:
» mean(y(3:length(x)))
ans =
    24

2. » x=[1 2 3 45 24];
» y=[3 2 6  8  30];
» M=y.*(y>=x) + x.*(x>y)
M =
     3     2     6    45    30

3. » d=sqrt(x.*x+y.*y);
» [mc ic] = min(d);
» [ml  il] = max(d);
» sqrt( (x(ic)-x(il))^2 + (y(ic)- y(il))^2 ) 
4. »sum(x>y)

5. >> x=[6  37  49  56];
>> u=rem(x,10)

%últimos dígitos
u =
     6     7     9     6
>> sum(rem(u,3)==0) 

%cantidad 
ans =
     3
>> mean(u(rem(u,3)==0)) 

%promedio 
ans =
     7

6. >> x=[9  8  4  5  6  7];
>> p=x(2:2:length(x))
%elem. de índice par
p =
     8     5     7
>> i=x(1:2:length(x)) 
%elem. de índice impar
i =    
 9     4     6
>> (sum(x)-min(p)-min(i))/(length(x)-2)
ans =
    7.5000


%Con una sola sentencia:

>> (sum(x)-min(x(2:2:length(x)))-min(x(1:2:length(x))))/(length(x)-2)
ans =
    7.5000
7. » mean(x.^3)
8. » X=[1  -3  4  2  -2  2];
» Y=[-2  1  1  8   0  1];
» sum((X.*X+Y.*Y<36)&(X>0)&(Y>0))
ans =
     2

9. » X=[1 3 2 4 5 2 4];
» sum(X(1:2:7))-sum(X(2:2:7))
ans =
     3
% en general:
sum(X(1:2:length(X)))-sum(X(2:2:length(X)))
10. >> x=[2  3  4  5  6  7];
>> y=[x(length(x):-1:(length(x)/2)+1) x(1:length(x)/2)]
y =
     7     6     5     2     3     4
